(
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61

62 12
1
2
3
21 H22 H23
1 1309 1188 1126
2 224 253 241
3 2700 2820 3630
4 < > 5005 4798 4415
< > 84 80 77
70,224,000(20.9%)
335,001,896 220,000,000 65.7% 30.000,000 9.0%
14,777,896 4.4%
23
H20 H21 H22 H23
1 1 1
| 1 1 1 0
19 19 19 17
| 1 1 1 1
6 6 6 6
| 2 2 2 1
0 0 0 0
7 7 7 7
19 19 19 17
3 3 3 1
69 — 46 2826
22
A) 108,724 (139,860) 74557  (100,525)
(B) 110,630 (139,663) 44817  (49,006)
(A)-(B) 1,906 (197) 29740  (51519)
1,906 (197) 0 0)
770 (75.1) 987  (989) 0 0)
98.3 (100.1) 4349 (542.1) 0 0)
225 (30.0) 956  (95.1) 0 0)
9.2 (103) 956  (95.1) 0 0)
218 ( 50) 0.0 (0.0) 0 0
68.6 (71.9)
; 23030  (44,425)

16 6 16
16 10
16
18
18
20 20 4
20
20 7
8
21 8 2
12
23 2
1
2
23 4 1
24 5 11
1 1
2
2
3
3




21 22 23
(A) 145,796 139,860 108,724
4917 4,090 3,246
16,642 16,409 15955
1,525 1212 1,253
105872 100,525 74,557

0
105,872 100,525 74,557

0
(B) 147,014 139,663 110,630
114,415 125282 100,413
95,233 104,897 85,199
19,182 34,822 21,147
32,597 14,380 10217
9,140 3,009 1,142
17,433 4,129 2,583
(C)=(A)-(B) 1218 197 1906

(D)
(E)
(F)=(D)-(E) 0 0 0
(G)=(C)+(F) 1218 197 1,906
(H) 353527 352,309 352,506
()=(G)+(H) 352,309 352,506 350,600
0 0 0
Q) 0 0 0
(K) 0 0 0
L=)*+(K) 0 0 0
(M)=(G)+(J) 1218 197 1,906
(N) 353527 352,309 352,506
(0)=(M)+(N) 352,309 352,506 350,600
21 22 23

23463 21,346 19971
21,788 21,346 19971
334,958 335,098 335221
334,738 334,878 335,001
323,701 323584 323584
220 220 220
358421 356,444 355,192
6,112 3,938 4,592
5,880 3,580 3,804
6,112 3,938 4,592
352,309 352,506 350,600
334,738 334,878 335,001
352,309 352,506 350,600
358,421 356,444 355,192




